TR BT < Fdfe faamr

Government of India :: Dept. of Space

SATISH RHEAWARN SPAGE CENTRE SHAR

[Participant ID '

Participant Name I

Test Center Name

Test Date 04/06/2022

Test Time 4:30 PM - 6:30 PM
Subject Electrician

Indian Space Research Organisation

il isFa

Section : Electrician

o0 P >

Ans X 1.A
X 2.8
X 3.cC
o 4.D

_

Q1 oy g af ol U ol dfex dlex & WA dieedt Myl arel Sit eyl @ Sits Rarsge
Tg 3¢ 19 | HE HT

Tg B TE BT

UG A&7 ofeT S

glex umr adles Q srd v

Question ID : 5834939827
Chosen Option : 4

Q.2

A. HPSV
B. HPMV

D. LED

Ans X 1.A
X 2B
X 3.C
& %D

C. Metal Halide Lamp

Which of the following lamps have better CRI compared to others?

Question ID : 5834939774
Chosen Option : 4




Q.3

Ans

Y UlaRIeyd® Uiy &1 fdggd 9cd g?
A get

B. SRl

c. <

D. QST

o 1.A
X 2.8
X 3.c
X 4D

Question ID : 5834939833
Chosen Option : 1
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Q4

Ans

Starting winding of a single-phase refrigerator compressor motor is disconnected after

starting by means of ?

. Magnetic relay
. Centrifugal switch
. Timer

MCB

o0 wp

< 3.

A
X 2.8
c
X 4D

Question ID : 5834939832
Chosen Option : 2
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Q.5

Ans

A PRI o Gl e
B 3ICER cIHBIR Thie # w0 & H BaeH
C. Y-4ud efiia ¥ oy s-aeH
D. TIed & HROT AT
& T
X2:B

X 3.c
X 4.D

Question ID : 5834939797
Chosen Option : 2




Q.6 How many units of energy delivered from a 200Ah 12V battery used under standard specified

discharge condition?

A. 2.4 units
B. 200 units
C. 12 units
D. 20 units

Ans 1A
X 2.B
X3.c
X 4D

Question ID : 5834939831
Chosen Option:: 1
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Q.7 Proximity effect is observed in which of the following situation?

A. High Voltage DC transmission
B. Electric train due to HV OH line
C. Alternating current passing through conductor

D. Alternating flux in a conductor due to current flow in nearby conductor

Ans X 1.A
X 2.8
X 3.c
& 4D

Question ID : 5834939763
Chosen Option : 4
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1.5 sg.mm Cu.

A

B. 0.5sg.mmCu
C. 0.75sg.mm Al
D

4 sq.mm Al

Ans 1A
2B
X3.C
X 4D

Question ID : 5834939812
Chosen Option : 2




Q.9  The reciprocal of resistance 1s?

o nw

A. Susceptance

Conductance
Impedance

Reactance

Ans X 1.A
 2.B
X 3.c
X 4.D

Question ID : 5834939825

Chosen Option : 2
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T.A

X 2.B
o 3.C
X 4.D

Q1T What is the relative resistivity of copper'com

One?
A. 0.94
B. 0.625
C. 16
D. 28 *
Ans X 1.A

A

Question ID : 5834939837
Chosen Option : 3

luminium if aluminium resistivity is

Question ID : 5834939767
Chosen Option : 3




Q.12

Which of the following is true in case induction motor is receiving less Voltage than rated
voltage?

A. Starting current will get decreased

B. Running current will get decreased

C. Starting current will get increased

D. Starting torque will get increased

Ans 1. A
X 2.B
X 3.C
X 4D
Question ID : 5834939788
Chosen Option : 3
Q.13
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A 4
B 3 \
G. 2
D. 6
Ans X 1.A
 2.B

X 3.cC
X 4D

Question ID : 5834939789
: Chosen Option : 4
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1st 2nd 3rd 4th  Band
Red Red Brown Gold

A. 22 ohms
B. 220 ohms
C. 2.2 kilo ohms
D. 2.2 milli chms

Ans X 1.A
 2.B
X 3.c
x40

C)O

S

tion ID : 5834939838
osen Option : 2
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Question ID : 5834939765
Chosen Option : 3
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Question ID : 5834939834
Chosen Option : 2
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Q17 The effect of harmonics in power distribution system is ?

A. LowPF
B. Higher losses
C. Lower eddy current loss
D. High efficiency
Ans X 1.A

o 2.B
X3.c
X 4D

Question ID : 5834939782
Chosen Option : 2
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Q18 How many 5 Amps, 250 V switches are required to control one lamp from two different

places?

A. 3 Nos of single pole switches

B. 2 Nos of 3 pole switches

C. 2 Nos of 2-way switches

D. 1 No of three pole and neutral switches

Ans X 1.A
X8

.3 ¢
204.D

Question ID : 5834939811
Chosen Option : 3




" DCRic HIR T €l &
A.Tald
B.Tal,
C.Tall,

D.Ta 1/12

Ans X 1.A
o 2.B
X 3.c
X 4D

Question ID: 5834939762
Chosen Option : 2
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Q.20

Which is more suitable for switching and protection for current ratings more than 3000 A
A.ACB
B. MCB
C. MCCB

D. ELMCB
Ans o 1. A

X 2B
X3.c
X 4D

Question ID : 5834939816
Chosen Option : 1
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Q.21
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Ans X T.A
2B
w5 C
X 4D

Question ID : 5834939815
Chosen Option : 1




Q.22
which of the following breakers not suitable for 220KV power systems?

SF6
VCB
MOCB
ABCB

O 0w

Ans X 1.A
o 2.B
X 3.c
X 4.D

818

Q.23
TP Sl A 15w, 230 V GER 351 adfT 100 w, 230V o U4 T *@cl |
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Ans X 1.A Q
X 28
X 3.c
o 4.D

Question ID : 5834939821
\ Chosen Option : 4




Q.24

In which electrical system word ’Ferranti effect’ is related?

A. Lightly loaded long HVAC

B. Lightly loaded short UG cables
C. HVDC

D. Fully loaded LV OH line

Ans o 1.A
X 2.B
X 3.cC
X 4D

Question ID : 5834939801
Chosen Option : 1
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B. Sl 68 Y& o USRI
C. HTSUT 54 Y& ol JUBU
D. 3l 20 Y& ol SUDRYT

Ans X 1.A
o 2.B
X 3.c
X 4D

Question ID : 5834939807
Chosen Option : 2
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A. alc
B. a/b
C. blc
D. a/b

Ans X 1.A
X 2B
o 3.C
X 4D

Question ID : 5834939836
Chosen Option: 3
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Ans X T.A
x 2B
75.3.C
& 4D

Question ID : 5834939799
Chosen Option : 4




Q.28 Which is not used for extending power supply to load

Step up transformer

Step down transformer

0wy

Isolation transformer

D. Instrument transformer

Ans X 1.A

X 2.8

X 3.c

& 4D

Question ID : 15834939769
Chosen Option : 4
—

Q.29 )

Current transformer is generally used for Purpose?

A. Lage current distribution

B. Large current measurement circuit
C. Current Step up

D. Power distribution

Ans X 1.A

« 2.B

X 3.C

X 4D

Question ID : 5834939824
Chosen Option : 2
— -

Q.30

In case of DC motors which is true.
A. DC series motor runs at.more speed at light loads
B. The starting torque of DC series motor is less
C. The starting torque of DC shunt motor is more

D. DC series motor runs at more or less constant speed.

Ans  #C1A
X 2B
X.3.C
P )

Question ID : 5834939819
Chosen Option: 1




Q.31 In earth megger which of the following is true

A. Current electrode is kept at more distance than potential electrode from earth pit
B. Current electrode is kept at less distance than potential electrode from earth pit

C. Both current and potential electrodes are kept at equal distance from pit but in opposite

Directions

D. Earth megger uses DC current for measurement

Ans o 1. A
< 2B
<X 3.C
< 4.D

Question ID : 5834939809
Chosen Option : 4

&

Q.32 The speed of a D.C shunt motor more than its full — load speed can be obtained by

action?

A. Decreasing the field current
B. Increasing the field current
C. Decreasing the armature current

D. Increasing the armature current

Ans o 1. A
X 2.B
X 3.C
X 4D
Question ID : 5834939793
Chosen Option: 3
_ =
Q.33
ESD control and protectionds a major task in industries
A. Welding shop
B. Operation theatre
C. Gaseous fuel handling areas
D. Software laboratories
Ans X 1.A
X'2.B
3. C
25 4.D

Question ID : 5834939808
Chosen Option : --




Q34 3core power cable is designated as YFY. What does it indicate?

A. Copper conductor Y connected round armoured PVC

B. Aluminium conductor PVC insulated flat strip armoured PVC outersheath
C. Copper conductor XLPE insulated flat armoured PVC sheathed

D. Copper conductor PVC insulated flat strip armoured PVC outer sheath

Ans X 1.A

X 2.B

X 3.c

& 4D

Question ID : 5834939814
Chosen Option : --
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Ans X 1.A
X 28

& 3.C
X 4D

Question ID : 5834939791
Chosen Option : 3
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Q.36

o

Ans o 1 A
X28
g O
£ 4.D

Question ID : 5834939764
Chosen Option : 1




Q.37

Ans
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X 1.A
X 2.8
o 3.C
X 4D

Question ID: 5834939835
Chosen Option : 3
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Q.38

Ans

Other than motor application, the synchronous motor has usage in power system?

A. Voltage correction
B. power correction
C. Frequency correction

D. Power factor correction

X 1.A
X 2.8
X 3.c
& 4D

Question ID : 5834939802
Chosen Option : 4
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Ans
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Question ID : 5834939775
Chosen Option : 4




Q.40 Slip rings of induction motors are usually made of Material?

A. Silicon steel
B. Carbon
C. Phosphor Bronze

D. Aluminium
Ans X 1.A

X 2B
o 3.C
X 4D

Question ID : 5834939787
Chosen Option : 3

Q.41

I LED B Gl 80 TgHU/GIE ¢, Al 20w LED T TIRE DI 3CYe T ghII?
A 1600 T
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B
C. 1600 THY
D. 1600 dlE

Ans X 1.A
X 2.B
o 3.C
X 4.D

Question ID : 5834939776
Chosen Option: 3
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Q.42

0 0 W= o

Ans X T.A
X 2.8
> W,
?< 4D

Question ID : 5834939804
Chosen Option: 1
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Question ID : 5834939777
Chosen Option : 4
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Q.44

Ans
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Question ID : 5834939772
Chosen Option : 4

Q.45

Ans

10 sg.mm. T, Uidieft fagaaris vae thet e ... BfERR (@) 1 TRdd 4R &1 a6 dl?

A. 10 Amps
B. 100 Amps

C. 40 Amps
D. 16 Amps

X 1A
x 2.B
o &C
a0

Question ID : 5834939813
Chosen Option : 4




Q46 Edl & arguR “wE- e 4vft @1 Feuh Wfckrry o aroEE e @ B 8

A. 120 & .
B. 130 f&Eft 4.
c. 155 f&W
D. 180 U W,

Ans X 1.A
< 2.8
X 3.c
& 4D

D: 5834939840

Q.47

In instrument transformers which of the following statement is true?

A. In a CT primary winding is connected in parallel to the circuit \

B. In a PT primary winding is connected in series to the circuit

C. In a Step down PT secondary turns are less than primary turns

D. Both CT and PT are higher power ratings comparing to pow sforn

Ans X 1.A
< 2.8

Question ID : 5834939778
Chosen Option : 3
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Ans X T.A

X 4D

Question ID : 5834939773
Chosen Option : 4




Q.49 What is the synchronous speed of an Induction motor 415V, 50Hz, 3 Phase, 2 Pole when the
frequency of supply is 52 Hz?

A. 3000 rpm
B. 2880 rpm
C. 1500 rpm
D. 3120 rpm

Ans X 1.A

Question ID :
Chosen ion :

X 2.8 .
X 3.c
& 4D
95
4

Q.50 An electrical load draws 3kW of real power and 2 kVAR of inductive reactive power. The

rating of capacitor bank required to obtain unity load power factor will be

A. 3KVAR \
B. 2KVAR

C. 5KVAR
D. 1.5KVAR

Ans X 1.A

Question ID : 5834939768
Chosen Option : 4

o« 2.B
x3.c
X 4.0 Q

Q.51
Which one of the follo s highest short circuit breaking capacity?

A.MCB

B. ELMCB

Question ID : 5834939820
Chosen Option : 1




Q.52 What is the phase shift of LV w.r.t HV in the vector group Yy6 power transformer?

A. 180 deg lag
B. 30deglag
C. Odeg

D. 30 deg lead

Ans o 1. A
X 2.8
%5 3.cC
X 40D

: 5834939786
4 o

Q53 When reading has to be noted during general insulation measurement by using insulati

tester, Time duration to be followed is? s
. 10 minutes \

. Within 10 sec

One minute

50w

15 minutes

Ans X 1.A
X 2.8

Chosen Option : --

& 3.C ‘ Q
X 40D Q
& Question ID : 5834939822

Q54 Where is synchroscopé us

Ans

Question ID : 5834939805
Chosen Option : 4




Q.5

5 by faqgd ¥ ¥ gaH gy Bl 82
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Ans X 1.A
X 2B
X 3.c
o 4.D

Ans X 1.A

Question ID : 5834939790
\ Chosen Option : 4
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Ans o 1. A
X 2.B
X 3.cC
X 4.D
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Question ID: 5834939810
Chosen Option: 4
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B. W@

C. TARR 3aR
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Ans X 1.A
X 2B
X 3.c
& 4D

Question ID : 5834939771
Chosen Option : 4




Q.59 Capacitors should be discharged 2

Through conductor
With one pole earthed

Resistor

caw»

With two pole earthed

Ans X 1.A
X 2.8
& 3.C
X 4.D

Question ID : 5834939806
Chosen Option : 1

—_——
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A. 1309FE

B. 100.9 [T

C. 13YgMc

D

Ans o 1. A
X 2.8
X 3.c
X 4D

Question ID : 5834939823
Chosen Option : --
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Ans X' 1. A
2. B
xs.c
X 4D

Question ID : 5834939830
Chosen Option : 2
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Ans X 1.A
 2.B
X 3.c
X 4.D

Question ID.: 5834939783
Chosen Option: 2

Q.63  Among the following, which frequency is widely adopted for electrical devices in Aeroplane

A. 50 Hz
B. 400 Hz
C. 60Hz
D. DC

Ans X 1.A
 2.B
X3.c
X 4D

Question ID : 5834939826
Chosen Option : 2
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Ans X 1.A
X2B
.36
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Question ID : 5834939829
Chosen Option : 2




Q.65

Ans

220/6V, 50 Hz & TRIGER &I wfis gedt 31110V, 60 Hz @1 fagga omafd &t ot g1 fafoas

60V
36V
30V

o N ® >

25V
X 1A
X 2.B
& 3.C
X 4D

Question ID : 5834939785
Chosen Option : 4

Q.66

Ans

AC BT DC H Uil & foY Tad ®H 9l U 99 UG 7ol 82
A. HIeX WHLeR Ue

B. gUf uRad® (@-ae)

C. URT 3T fGFari

D. 3dcX

X 1A
X 28
X 3.c
& 4.D

Question ID : 5834939770
Chosen Option : 4

Q.67

Ans

fFOiRgd o ¥ &I A1 fdegd sradey Ni-Cad dd H Wge a1 SITar 372
A. difgd dsfan

B. dd H2504

C. 3gfad Sie

D. URREAgIESRIRIES

XaAK

X 2B

K.3.C
P D

Question ID : 5834939841
Chosen Option : 4




Question ID : 5834939779
Chosen Option : 4

Q.69

Ans

Tl SURnR T YREM &1 &R IP:54 G &

A
B.
&
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X 1A
X 2.B
& 3.C
X 4D
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Question ID : 5834939817
Chosen Option : 4




Q.70

Ans

HRIAY s [hY fdggd yumrel 3 Jeidd g2

A. HVAC
B. UG &ad
C. HVDC
D. LV

o 1.A
X 2B
xX3.c
X 4.D

Q.71

Ans

A. St 9ot AeR .
B. Wl guii AIex ’ ?\
C. Jeddlicied Hiex ()

D. Read ool R0 AR 0

o 1.A

Q
K 3.c
X 4D \

Question ID : 5834939792
Chosen Option : 1




Q.72
The emf equation of a transformer is Es Vv?

A. 4.44.0m.f Ns

B. ©OZNP/60A
C. 4.44.0m.fNp
D. 1.11.Om.fNs
Ans o 1. A
< 2B
X 3.c
X 4.D

Question ID : 5834939784
Chosen Option : 1
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Ans X 1.A
X 2.8
X 3.cC
o 4.D

Question ID : 5834939766
Chosen Option : 4
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Ans X 1.A
 2.B
X 3.cC
X 4.D

Question ID : 5834939780
Chosen Option : 2

&

Q.75 According to Fleming’s Left-Hand Rule, the thumb finger indicates  ?

A. Direction of force on the conductor
B. Direction of the torque
C. Direction of induced EMF

D. Direction of current flow

Ans o 1. A
X 2B
X 3.c
X 4D
Question ID : 5834939839
Chosen Option : --
-
.76 .
7% v R A | afsa Bads & RIS g UG T JrdT g

A. OTaR a2 IR faord! iR E Ao

B. UG @3- faoiell 6l ®f Y B QMR &
C. @ Tlecol § TR&T

D. AolgId! dIed o [auiel TR 9 s

Ans X 1.A

o 2B
X3c
4.0

Question ID : 5834939800
Chosen Option : 2




Q.77

Shaded pole motor will have in its circuit

. Squirrel cage rotor
Starting capacitor

. Centrifugal switch
. All the above three

onwp

Ans 1A
X 2B
X 3.c
X 4D

Question ID : 5834939794
Chosen Option : 4

Q.78
Which of the following protections not a must for 5000 KVA,11KV/433V, Delta/Star,

DY11,Dry type power distribution transformer?

A. Buchholz relay k
B. Difterential protection relay

C. Earth fault relay

D. Short circuit protection relay

Ans o 1. A
< 2B
X 3.C
X< 4D

Question ID : 5834939781
Chosen Option : 1

Q.79
Cogging and Crawling menon is related to ?

. Squirrel cage induction motor

Ans

Question ID : 5834939796
Chosen Option : 1




Q.80

Ans

Recommended discharge current from a 120 AH ,12 V ,20C lead acid battery for maximum

life and efficiency is

A.
B
C.
D

X 1A
o 2.B
X 3.c
X 4D

120 amps

. 6 amps

12 amps

. 20 amps

?

Question ID : 28
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